



DEPARTMENT OF MATHEMATICS

UNIT IV

⑥ We can prove the following statements:

(i) $u_{xy} = u_{yx}$ when $u = \tan^{-1}\left(\frac{x}{y}\right)$

(ii) $u = (x^2 + y^2 + z^2)^{-1/2}$, $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} = 0$

(iii) $u = x^2 \tan^{-1}\left(\frac{y}{x}\right) - y^2 \tan^{-1}\left(\frac{y}{x}\right)$, $\frac{\partial^2 u}{\partial x \partial y} = \frac{x^2 - y^2}{x^2 + y^2}$

EULER'S THEOREM FOR HOMOGENEOUS FUNCTION

HOMOGENEOUS FUNCTION:

A homogeneous function of degree n in x and y is $f(x,y) = x^n f\left(\frac{y}{x}\right)$ or a function $f(x,y)$ is said to be homogeneous function in x and y of degree n if $f(tx, ty) = t^n f(x,y)$.

Euler's theorem for Homogeneous function

If $u = f(x,y)$ is a homogeneous function of degree n then $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = nu$.

PROBLEMS:

① Verify Euler's theorem for $u = x^3 \sin\left(\frac{y}{x}\right)$

Soln:

$u = x^3 \sin\left(\frac{y}{x}\right)$

Let $u = f(x,y) = x^3 \sin\left(\frac{y}{x}\right)$

$f(tx, ty) = t^3 x^3 \sin\left(\frac{ty}{tx}\right)$

$= t^3 x^3 \sin\left(\frac{y}{x}\right)$

$= t^3 f(x,y)$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)

COIMBATORE-641 035, TAMIL NADU



DEPARTMENT OF MATHEMATICS

1. u is a homogeneous function of degree 3.

$$\text{To prove: } x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 3u$$

$$\frac{\partial u}{\partial x} = 3x^2 \sin\left(\frac{y}{x}\right) - xy \cos\left(\frac{y}{x}\right)$$

$$\frac{\partial u}{\partial y} = x^2 \cos\left(\frac{y}{x}\right)$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 3x^3 \sin\left(\frac{y}{x}\right) = 3u$$

Hence proved.

2. Verify Euler's theorem for the following functions:

(i) $u = (x^2 + y^2 + xy)^{-1}$

(ii) $u = ax^2 + 2hxy + by^2$

(iii) $u = x \log\left(\frac{y}{x}\right)$

Soln:

(i) u is a homogeneous function of degree -1

$$\frac{\partial u}{\partial x} = -(2x+y)(x^2+y^2+xy)^{-2}$$

$$\frac{\partial u}{\partial y} = -(2y+x)(x^2+y^2+xy)^{-2}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = -2u$$

(ii) u is homogeneous function of degree 2

$$\frac{\partial u}{\partial x} = 2ax + 2hy$$

$$\frac{\partial u}{\partial y} = 2hx + 2by$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 2u$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)

COIMBATORE-641 035, TAMIL NADU



DEPARTMENT OF MATHEMATICS

(iii) u is a homogeneous function of degree 1

$$\frac{\partial u}{\partial x} = -1 + \log\left(\frac{y}{x}\right)u + \frac{u}{x}$$

$$\frac{\partial u}{\partial y} = \left(\frac{x}{y}\right)u - \left(\frac{1}{y}\right)u = \frac{u}{y}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = u \left(\frac{x}{x}\right) = \frac{u}{1}$$

(3) Verify Euler's theorem for $u = \frac{1}{\sqrt{x^2+y^2}}$

Soln:

$$f(x, y) = u = \frac{1}{\sqrt{x^2+y^2}}$$

$$f(tx, ty) = \frac{1}{t\sqrt{x^2+y^2}} = t^{-1}f(x, y)$$

u is homogeneous function of degree -1 .

$$\frac{\partial u}{\partial x} = -x(x^2+y^2)^{-3/2}$$

$$\frac{\partial u}{\partial y} = -y(x^2+y^2)^{-3/2}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = -(x^2+y^2)^{-1/2} = -u$$

(4) Prove that $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = \sin 2u$ using

Euler's theorem if $u = \tan^{-1}\left(\frac{x^3+y^3}{x-y}\right)$

Soln: $u = \tan^{-1}\left(\frac{x^3+y^3}{x-y}\right)$

$$\tan u = \frac{x^3+y^3}{x-y}$$

$$f(x, y) = \tan u = \frac{x^3+y^3}{x-y}$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & amp;

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & amp; B.Tech.IT)

COIMBATORE-641 035, TAMIL NADU



DEPARTMENT OF MATHEMATICS

$\therefore \tan u$ is a homogeneous function of degree 2.

By Euler's theorem,

$$x \frac{\partial}{\partial x} (\tan u) + y \frac{\partial}{\partial y} (\tan u) = 2 \tan u$$

$$x \sec^2 u \frac{\partial u}{\partial x} + y \sec^2 u \frac{\partial u}{\partial y} = 2 \tan u$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = \frac{2 \tan u}{\sec^2 u}$$

$$= 2 \frac{\sin u}{\cos u} \cdot \cos^2 u$$

$$\therefore x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = \sin 2u$$

⑤ Using Euler's theorem, prove that $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 0$

if $u = \sin^{-1} \left(\frac{\sqrt{x} - \sqrt{y}}{\sqrt{x} + \sqrt{y}} \right)$

Soln:

$$\sin u = \frac{\sqrt{x} - \sqrt{y}}{\sqrt{x} + \sqrt{y}}$$

$\sin u$ is a homogeneous function of degree 0.

By Euler's theorem,

$$x \frac{\partial}{\partial x} \sin u + y \frac{\partial}{\partial y} \sin u = 0$$

$$x \cos u \frac{\partial u}{\partial x} + y \cos u \frac{\partial u}{\partial y} = 0$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 0$$

⑥ Using Euler's theorem, prove that

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 3u \text{ if } u = xy^2 \sin \left(\frac{x}{y} \right)$$

Soln: